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General Instructions :

Please read the following instructions carefully and follow them.

(1) This question paper contains 13 questions. All questions are

compulsory.

(i)  This question paper consists of three Sections — Section A, B and C.

(itt) Section - A has 8 questions (1 to 8) of 2 marks each. Answer to these

questions should be completed within 50 words each.

(tv)  Section - B has 3 questions (9 to 11) of 4 marks each. Answer to these

questions should be completed within 100 words each. Answer of MAP

question should be attempted accordingly.

(v) Section - C has 2 questions (12 to 13) of 6 marks. Answer to these

questions should be completed within 170 words each.

(vi)  There is no overall choice in the question paper. However, an internal

choice has been provided in some questions. Only one of the choices in

such questions have to be attempted.
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ISR HIFST | 2
2. YA 3TN 30T & S HEINT o feheg] TR &7 sl ISR SHIfTT | A4x % =2

3. 1952 T 9Rd H YW 379 IS LA H AT TN o TH 3178 el o T@ auenati
1 IR HITT | 2x1=2

4. cfeqor ufyrn | e foew S aret fordl = e o am ferfigu | A4xY%=2

5. TGl o ST HIE oh YT %I YT ol 317 < oh cAlehd b IHE H T I | 2

6. Tachi-Seft ey S TR =i St 8 7 TE hifT | 2

7. (a) <9 AN I GUR BT A FA] T A& g STalfeh Teh! SFTeIaee H ek

T 3T ? IS &1 R ¢oht TTE HIFT | 2x1=2
3era
() iR Ay &1 31ef T Fifdw | 2

8. WA kI UsHIfd 9 1975 T Tiftrd 3TdTaerTel o fopdl & gvrel o1 faseyn A | 2x 1 =2
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SECTION - A

1. Highlight the importance of the strategy of ‘Non-Congressism’ forwarded
by Ram Manohar Lohia in 1967 general election. 2

2.  Highlight any four areas of cooperation between India and Israel. 4x%=2

3. Highlight any two major problems faced by the Election Commission of
India for holding the first General Election in 1952. 2x1=2

4. Name any four countries that are included in South Asia. 4xY%=2

5. Explain the nature of Congress dominance after the independence in

relation to democracy in other countries. 2

6. Why are coalition governments formed ? Explain. 2

7. (a) Why did the people of China not receive the benefits of the reforms
whereas its economy had improved dramatically ? Explain giving any

two reasons. 2x1=2
OR
(b) Explain the term ‘ASEAN Way’'. 2

8. Analyse any two effects of Emergency declared in 1975 on the politics of
India. 2x1=2
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SECTION -

B

9. Explain with the help of any two examples the strong and trustworthy

relations between Russia and India.

10. Explain the process of democratisation in

Maldives.

2x2=4

11. In the given outline political map of India, four states have been marked

as @A), B), (C) and (D). With the help of the information given below,

identify them and write their correct names in your answer book along

with the serial number of the information used and the related alphabet

in the map as per the format given below.

Terr Scale 1:15000.000 fm
10050 0 100 200 300 400 500

777" __ POLITICAL OUTLINE MAP OF

INDIA
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12. (a) 37T9eh R & 2019 % FAET H IR GO SR T ATk T3 (TSAT) i

(b)
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(1) The State to which Jai Prakash Narain belonged.

(i1) The State where Indian National Congress won most of the Lok Sabha
seats in 1977 elections.

(iii)) The State from where Raj Narain contested the Lok Sabha seat
against Indira Gandhi in 1977 election.

(iv) The State where Janata Party won all the Lok Sabha seats in 1977
election.

S. No. of the Related alphabet | Name of the
information used | given in the Map State

@

(i1)
(ii1)
@1v) 4x1=4

Note : The following questions are for visually impaired candidates
only in lieu of Q. No. 11.

11.1  Who was the first Prime Minister of the Janata Party Government ?

11.2 From which State did Indian National Congress not win even a
single Lok Sabha seat in 1977 general election ?

11.3 Name the Commission appointed by Janata Party Government to
enquire into the excesses made during emergency.

11.4 In which year was emergency imposed in 1975 removed ? 4x1=4

SECTION - C

12. (a) Highlight any three factors that you think are responsible for the
victory of National Democratic Alliance (NDA) in 2019 election

continuously for the second time. 3x2=6
OR
(b) Highlight any three issues that affected the Indian politics after
1989. 3x2=6
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13. (a) ovdThor o fohel <fie ATl BT Yoariehd ShifTT | 3x2=6

JYAr

(b) Toerreriiar <ot & TS i yifieRt W Swefiehtor o §U fehedl oM Tl ST Hoareh
HINT | 3x2=6

. 59/3/3 10



E7E
(=]

13. (a) Evaluate any three benefits of globalisation. 3x2=6
OR

(b) Evaluate any three effects of globalisation on the role of state in

developing countries. 3x2=6
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